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®7T HERCEEDFHR - BLARCHERES SUCESERIEDLREDLLER

x 4 TR mor g op | EBERROBRE %) ESEAEDEBRE (%)
& 3l HEE (A) 2 H (B) = (A-B) |#&82 (C) £ E (D) = (C-D)
% HE 5% 2.33 3.560 A 1.23 0.64 0.15 0.49
154 65 4.07 5.740 A 1.67 0. 40 0.28 0.12
2FE 75 7.16 8.02 A 0.86 0.48 0.41 0.07
INFE R 3FEE 8 8.76 114 A 2.38 0.18 0.58 A 0.40
4FSE 9k% 9.85 13.170 A 3.32 1.47 1.41 0.06
5 584 10%% 10. 80 15.110 A 4.31 2.33 2.36 A 0.03
6 F5E 115 10.94 13.95] A 3.01 1.67 2.91 A 1,24
F 184 128% 10. 80 13.270 A 2.47 3.45 3.21 0.24
2R 2854%E 13%% 8.72 12.25/ A 3.53 2.29 2.59 A 0.30
3F% 148% 10.35 11.311 A 0.96 3.02 2.817 0.15
184% 15%% 11.41 12.517 A 1.10 4. 64 4.43 0.21
BEER | 254% 16%% 6.73 11.13] A 4.40 3.57 3.71 A 0.14
3FE 178% 8.16 11.421 A 3.26 3.36 3.32 0.04
% 5% 3.86 3.73 0.13 0.24 0.23 0.01
18E4% 6% 3.33 5.50 A 2.17 0.86 0.44 0.42
2FE 7% 7.06 7.230 A 0.17 0. 41 0.46 A 0.05
INE R 3FHE 8% 5.91 9.07, A 3.16 0.56 1.01 A 0.45
4FSE 9% 11.09 9.57 1.52 3.06 1.87 1.19
£4 584 10%% 6. 66 9.74, A 3.08 1.80 2.53 A 0.73
6 FE 15 10.79 10. 47 0.32 2.70 2.40 0.30
+ 154 128% 7.50 9.517 A 2.01 6.39 3.85 2.54
h 2R 254%E 13%% 6.57 9.05, A 2.48 3.68 3.28 0. 40
3FE 145% 6.51 .71 A 1.20 4.28 3.09 1.19
184% 15%% 5. 40 7.68, A 2.28 3.44 3.13 0.31
BEER | 254% 16m% 5. 69 6.980 A 1.29 2.26 .94 A 0.68
3FE 178% 5.37 7.450 A 2.08 3.05 2.38 0.67

(F) - EmfEmEeid, M5 - Fiohl - SRINFEREN SIEBEZRSD. [EHEN20%ULEDETT,
- EEERECIE, HR - Fiehl - BRIGEREN SIEREZRD, ERENA20BUTOETY,
- EEE=RARE (ko) —SRINFEFE (ko) 1I/ERINTEEE (kg) x100(%)
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